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TikZ 72

» “TikZ ist kein Zeichenprogramm”

» “TikZ is not a drawing program”
» OIRA/EISSIC2 J2)&= 40| OfL{Cf

> TEXOIIM & 22(7], T F£0[7] SO AtE.

> PSTricks 0|22 TikZ7} CiA.
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g EF2Z M0 TikZ

21z Mole 18 EPE:
» PowerPoint / Of2ljO}st=

Adobe lllustrator

v

GeoGebra
» TikZ
Inkscape / GIMP / Windows Z1&/T

v

v
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https://draw.io
» 202 2|7

(ZE: 24 AZEQY0f)
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TikZ ZH|57
template.tex <+ (examples =0 USLICH)

» 222 8] Y% 7|2 W

o AN
1 \documentclass{standalone}

2 \usepackage{tikz}
3 \begin{document}

4 \begin{tikzpicture}
5 \draw (0,0) -- (1,1); 7 contents goes here
6 \end{tikzpicture}

7 \end{document}

» standalone Z2f{A9| At
» tikzpicture 2|0|= OFR A= QI0{OF &
- S0] D2]87] 32 H[9] £1 42 HIIAHLO] 2l
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TikZ ZH|s}7|
taegeukgi.tex
TeXstudio2| B2, O|ZA...

\draw (-1.5,-1) rectangle (1.5,1);

% e3P

\filltaegeuk-red] (180-\x:172) -- (-U:1/2)
illiaogeuk blue

arc [star

\nl\[hlgmkr red) (180-

%2

(18724, -1/4)

arcstant angle=-i, end angle=10-\,racius=05] - cycle;
1/2) -- (180-\x:1/2)

15=0.5] -~ cycle;

\filltaegeuk-blue] (-1:1/) circle [radius=1/a];

(21724, -1/4)

(24124, -1/8)

(18124, -1/4)

%23
\fildraw(rotat
\fildraw[rotate=\x] (‘
fildraw(rotate=\x]
fildraw[rotat
\fildraw[rotat

Line: 31 _Column: 12

"taegeukgi"tex

Process exited normally

-synctex=1 -i
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TikZ 2t HA|

» RS2 228 G7IEE 2 BA|, SZHEACH AFE ST
3L, EHA| A2 A, BHSA 2BA, ---
» pgfmanual(TikZ OfFQ) 133 &=

» O{7|0|| A2 E| pgfmanualOl2t= Y2 4k
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intro.tex
ofziel ZE= O™ O3S 12N

1 \draw (0,0) -- (1,1);

2 \draw (0,0) rectangle (2,1);

3 \draw (0,0) circle [radius=0.5];
4 \node at (0,0) {Some text};

5 \draw (0,0) -- (120:2);

> 7HZ5tT AOLE Y| A2 Tikzo| 2
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v
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path.tex
1 \draw
2 \draw
3 \draw
4 \draw

(0,0)
(0,0)
(0,0)
(3,0)

- (1’1);
— (1,1 — @,-);

-- (2,0) -- (2,3) -- (0,3) -- cycle;

arc (0:120:3) -- cycle;

» cycle: AR /OIZ|2 HS 0|0 HIME OFF
> -- 20| &,

» -|, arc, parabola, sin, ...

» visualtikz 23 2=,

SHE) Tikz 7|1%
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shapes.tex

1 \draw (0,0) circle [radius=0.5];
2 \draw (0,0) rectangle (2,3);
3 \draw (0,0) grid (5,5);

» AU5|l= EYHE ‘path’
- TR £ URs £
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342 017

path-style.tex

1 [\draw [EHd1, SH2] F=2;
2 \draw[blue, <->, dashed] (0,0) —- (4,1) -- (3,3);
3 |\draw (1,2) -- (2,2) [->] -- (3,1) -- (4,2); /% Nope.
» M- red, blue, white, ...
» S7|: line width = 2pt, thick, ...(15.3.14)
» SEf: dashed, dotted,
> SHIH £ > <>, <> S ARE

visualtikz 4.104 2t=
» (RIAZRL]) ATkt O ZHAICH
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coil.tex

» AR0| Heps WY

% \usetikzlibrary{decorations.pathmorphing}
\draw[decoration={segment length=2mm, amplitude=2mm

< coil}, decorate] (0,0) -- (2,2)
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shapes-style.tex
> HFel 2% 3=t S
» M 2R 7| (\drawve £&): \fill, \filldraw
> L] (60% HZ)
» \usetikzlibrary{patterns}

» ‘north east lines’, ‘dots’, ‘bricks’, ...

1 %4 \usetikzlibrary{patternst

2 \fill[red] (0,0) circle [radius=1];

3 \filldraw[pattern=bricks, draw=blue, ultra thick] (0,0)
< rectangle (2,3);

4 \filldraw[fill=green, opacity=0.8, draw=blue, ultra

— thick] (1,1) rectangle (3,4);
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text.tex

M=Z2 BHO: \node

1 \node at (0,2) {Some text};
2 \draw (2,-1) -- (2,2) nodelright] {A};
3 \draw[[<->|] (0,0) -- node[midway, above]l {$ 1 $} (3,1);

EIAE CHAl D2IE A0

mzll

4 9ick
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relative.tex

Z1tE "ot

rlo

oz M2 BE 2

rlo

1 \draw (10,10) -- (10,11) -- (11,11);
2 \draw (10,10) -- +(0,1) -- +(1,1);
3 \draw (10,10) -- ++(0,1) —— ++(1,0);

> DN YA, F12) MTHRIEO) FEE 712
> JHAM Y "olLrt= OE

> f: TR HES SO ATYRE ZL0f ALS
- 7% olojals =
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text-rel.tex

2 2plst7): 32 2713] W] QICk (17.5% AR)

1 \fill (0,0) circle [radius=2pt] node[above right] {A};
2 \fill (1,0) circle [radius=2pt] +(0.25,0.25) node {B};

above left above above right

left .right

below left below below right
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calc

calc.tex

» \usetikzlibrary{calc}

1 \draw (0,0) -- (3,1) -- (% (3,1) + (-1,1) $);
2 \draw (0,0) -- ($ 2x(1,2) $);

» 1354 =%
» HICHChQSH A3 HAS petmath 2 Y AR
» x¥, floor(x), isprime(x), int(x), rand, ...

» 89.2, 89.3, 903 2=
» SISH LuaTpX A2

> \RequirePackage{luatex85}
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node®} coordinate

coordinate.tex
Aol 0|8 Al7|:

1 |\node [EM] (O|8) 22| {L&3;

2 |\coordinate [FM] (0|8) 2IZ|;

1 |[\node (A) at (1,1) {a};

2 \node (B) at (2,2) {bl};

3 |\draw (&) -- (B);

4 %4 \usetikzlibrary{positioning?
5 \node (C) [below=of A] {c};
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foreach.tex

» pgffor If7|A|Q| \foreach® HWAOT AR Its.

> TIkZOM 2 ALRSHD! 2t2i3t =70} Sict

1 % \usepackage{pgffor}
2 \draw (0,0) grid (5,5);
3 \foreach \i in {1,2,...,5}{

4 \draw (\i,\i) circle [radius=0.1%\i]
5 node [below right] {$ (x_{\i}, y_{\i}) $};
6 ¥
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protractor.tex
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» ifthen 2| \ifthenelse®, intcalc 2| \intcalcMod AlE.
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git.io/vFrvL
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scope

scope.tex

» 22f tikzpicture

SFoM dY FH ALEts.

» \begin{tikzpicture}[...], = tikzset/tikzstyle
> 0|2 =2422 At 7ts7 8t 40| scope 2.
1 \begin{tikzpicture} [blue]
2 \draw (0,0) -- (1,1);
3 \begin{scope} [red]
4 \draw (1,0) -- (2,1);
5 \draw (2,0) -- (3,1);
6 \end{scope}
7 \draw (3,0) -- (4,1);
8 \end{tikzpicture}

Tikz 7|12

22/31



clip

clipl.tex

» J|2Ho == \draw?t €.

» 22 = LFo] AAST 4y
1 % draw option: draw a margin.

2 \clip[draw] (0,0) circle [radius=2.6];

3 \draw (-3,-3) grid (1,1);
4 \draw (1,1.5) circle [radius=1];
5 \fill (4,0) circle [radius=2.6];
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scope + clip

clip2.tex

> scopeS AtESHA| F2H clip2 HA0f A4EE.

Lo— —

» scope= Eol|, otLtQ| tikzpicturelf 02| 18 &% Jts

1 |\begin{scope}

2 \clip (-2,0) circle [radius=3];

3 \fill[red] (-2,0) circle [radius=3];
4 \end{scope}

5 \begin{scope?}

6 \clip (2,0) circle [radius=3];
7 \fill[bluel (2,0) circle [radius=3];
8 \fill[green] (-2,0) circle [radius=3];

9 \end{scope}
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» AMO| 2§ /42l0l HO

22 7Hs 40
o =
—

2elF

H'0l|A E0|Z]| &,
» \documentclass{standalone}2| REH
» 10| 22 50| 22| 20/ 12/7| &=.

» 24 22 2T GiOC 128 A2 2= HEe W),

1

I HO
:_I_

s

» pdfcrop, convert(ImageMagick) S2| x{2|7} Ml
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» J12}4|0]/d(Shading) / AH BiEH(xcolor)
» \tikzset, \tikzstylel| EE&

» TikZ 2t TH7|R|Q| B2

> OfiL|T|O]4d 2F57

» GeoGebraOf|M2| TikZ

> 7|Ef; 4~Gl0] B2 FE0Ql 10| 2 54
> 5SS
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» HESHA 25t =H5}|

» Tikze| 0|83 d2l= 2.

» d2 Zofete ¢ ZHHet 2201 SOl ekl
-~ Hfol ZEOIM b7

» MAISH OHOICt pgfmanual, texample.net

» 25 Y3ES G4lsl B 7).

S5 (MSU S2H2ER) Tikz 7|2

27/31


texample.net
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pgfmanual: TikZ/PGFQ| BIO|S. 4T ZCh= A,
Visual TikZ: A|Zt2Q1 AFZ 710|=. (VisualPSTricksO| M F-2H)
awesome-tikz: TikZ 2t S22 25

» T 20ME:

» minimaltikz: g6t AFZS2 2I5HH:

» TeXample.net: CHRFSH TikZ Of[A] =5

» Nice Scientific Pictures: 242t 22

v

v

v

seungwonpark /tikz-gallery: 2 YHAIO| TikZ 24E(?) 28
G, MASITHAH(?)...
» TikZ2| A A}, Tl Tantaul| 2015 dante A AA BIHRIZ:
Small TikZ miracles (52 0{)

v
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http://cremeronline.com/LaTeX/minimaltikz.pdf
https://tex.stackexchange.com/questions/158668/nice-scientific-pictures-show-off
https://www.dante.de/events/dante2015/Programm/vortraege.html#tantau

o

o
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T.Tantau (2015), The TikZ and PGF Packages (texdoc
tikz)

» A (2015), LaTeX €A 27|, bit.ly/2tXsRgi

» J.P.Casteleyn (2017), Visual TikZ (texdoc visualtikz)

» BF5Q] (2017), Graphing/Drawing Tools for Physics Research,
goo.gl/Lz2gBL

» ROIAN (2017), 7HQI A4l
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